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MATHEMATICS

END OF TERM 11 EXAM
TIME: 2HOURS

INSTRUCTIONS TO CANDIDATES

. €PS in your calculations in the Spaces provided, giving your answers at each
stage in the spaces below each question.

S5.Marks may be given for correct working even if the answer is wrong.

6.N:;n- programmable silent electronic calculators and KNEC Mathematical tables may be
used.

SECTION A: 40MKS

1) Evaluate -4 of(-4+-15 = 5)+-3-4+2)

(3mks)
84+-7+3--5
s = —H Y (cH-3)r-3-2

Lt 3t &

= e kq—’-T'_’f"f)
- =#
2

= 23

X i i 3 2mks
2) Express the following numbers in terms of their prime factors (2mks)
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4) The cost of 5 skirts and 3 blouses is sh. 1750. Mueni bought three of the skirts and o

of the blouses for sh.850. Find the cost of each item. (3 mks)
-gsl—fél;.::uﬁ)‘ LS = %0D
1y 4 b = B3V /S S = 490
¢ + &b = 2D — FSp - SXo
U TS T TTEC

- d
2) Forty five men can construct a road 210m long in 60 days. What length would be constructe

by 72 men in 50 day assuming that all work at the same rate? (3mks)

Mo. = Ty STy 110
uc 6o
— | ¥0O
3) Using tables to find the Square root of 0.146 (2mks) y
[e71y g — lm Ans = T2 10
- Qoo™ = 0352

4) The figure below shows a circle centre O. ChordAB subtends 300 at the centre. If the area of the
shaded section is 5.25cm?, find the radius of the circle [Take T = %) (3mks)
) ) _ _—
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5) Juma, Ali and Hassan share the profit of their business in the ratios 3:7: 9 respectively. If Ju
e - ma

receives Ksh 60000. How much profit did the business yield? (2mks)
o A |
RS bl = 00 1
Lt = 1] i N
= 250 00D
l}{(]_ = 60,000
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6) The exterior angle of
v gleo are8111&11“l301yg0n is an eighth of the interj

the regular polygon haye? (3 marks) : £ R s
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7) Express each of the folloiNingasafra_cEion;() c (2 mks) -
3,12
r= 23R V=2
e =T 19
. 2

T e

Qv = 265

8) Find the ratio of x: z if x: y=9:10 and y:z=5:3. (3mks)

oc'y = (9:0) § = 2 = M3

iz  (53)0 =94

/, Hs‘féb> =3 4%
QW

9) Inthe figure below, lines AB and LM are parallel.
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. (2 mks)
1o values of the angles marked x, and Z. (
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SECTION H{Answer ALL questions in this section)

, vns A
13) The table below shows a time table for a public surface vehicle operating between two tOWn
and D via town B and C,

e

town W Departure time

8:20am

ZZL{GH 11:00am
2:30 pm / ”—f.;?ﬂ‘h{) 2:50pm

4 oo fw-\ _J

1)) Atwhat time in 24hour clock system:

10:40pm /

]

a) The vehicle leaves town A.  2mks

OQ/ 2.0 li_g

b) The vehicle arrives in town D. Zinks

1 2260
et
7
c} How long does it take to travel from town A to D. 4mks - | (00
2L Loy U COhs free puyd iy _t_/L{,s,}jn
O €20 1~ ru—; (Loho
4 20 he SN = thec plze gl
- _-T——_——f’_;__:—‘_—‘ ra k)_&o 1‘ 9thHr,1 -f/ 1
2400 3 o)
==L = = T HO |y
_L___f_?‘if_(;)__-— 8 1 Crveaa .

d) Ifthbetween the'two towns A and D is 900km, find the average speed of the
vehicle. 2mks

c= B S= 224§
T — 2.9 'L‘Lk“’&//mr
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fem = 250
- [Cra™ = 75400 m
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- Use aruler and a pair of compasses only in this question.

Construct triangle ABC in which AB = 7 cm, BC = 8 cm and 2ABC = 609, (4mKks)
==

/!
¢

™~

Fa

1) Measure (i) side AC. (1mk)!

i) 2 ACB. (1mKk)
0

< hoep =54

c) On the same diagram, drop a perpendicular from C to meet AB at D. Measure CD hence
ilculate the area of the triangle (4mks)

L — o x bxh

Ay L

_ t/)¢7><7
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l
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